EREOTH7EEDQKAICE T AEMAER (FH7F6 AXER)
ERMAXK B
ﬁtﬁfﬁ;ﬁ BEE | oo ik i i kiliiny (ARBRRAR = r=
(ihﬁ? SELIEES 6 EERME 7 EEDER 6 FERME TEREDER 6 FERME TEREDER 6 FERME TEEDER 6 FERME TEEDER 6 FERM TEEDER 6 FERM TEEDER
(ha) (AT SR 4K) (ha) (AT R AE) (ha) (AT R AE) (ha) (R AT = AE) (ha) R AT = AE) (ha) AT R AK) (ha) (AT R AK)
EZR 1,205 - 3 Y - - 1 M 12 M 4 2 3 2 1 2
AfmET 248 N - - - - - - - - - - - - - -
RAEBLH 559 7 - - - - 5 M 2 M - - 0 M 0 -
KE 764 - - - - - 1 Y - - - - 7 - 0 M
BEM 449 v - - - - 0 M - - - - 0 - 0 -
reth 358 7 0 - - - 6 \ 2 \ 5 \ 24 N 0 7
RfET 359 - 1 - - - - - 7 \ 1 - - - 0 \
fEn AR T 481 g - - - - - - - - - - - - - 7
B 175 g - - - - - - - - - - 0 7 1 7
Exm 14| - -1 - 1 N - -1 - - - o]
BEm 348 \ - - - - - - - - - - - - 0 7
Fhet 589 N - - - - 0 - 1 \ - - 0 \ 5 7
T3] 128 7 - - - - - - - - 0 \ 6 \ 0 \
FREET 57 \ - - - - 1 M - - - - - - 0 -
= SERET 6 i - - - - - - - - - - - - - -
BIARHET 124 \ - - - - - - 0 \ - - 1 \ 0 \
= HEHT 78 - - - - - - - 0 \ - - - - 1 \
JIIFaET 106 i - - - - - - - - - - - - - -
=xHr 107 - - - - - - - 0 \ - - - - - -
H R AHT 510 - 7 N - - 4 7 N 31 - 18 7 12 -
B 34 \ - - - - 1 \ - - - - - - - -
LAt 12 - - - - - - - - - - - - - - -
= HRET 102 \ - - - - - - - - - - - - 0 \
HBEEHN 137 - - - - - 2 \ - - - - - - 0 7
kg 40 \ - - - - - - - - - - - - - -
EFE 17 - - - - - - - - - - - - - - 7
NC) 293 N - - - - 2 \ 1 \ - - 13 7 0 \
SIS ET 67 i - - - - - - - - - - - - 1 7
= EPET 44 \ - - - - - - - - - - - - 0 \
KieHT 56 i - - - - - - - - - - - - - -
GE1) ERAXRUBBAENO [7FEOBR HUERM | £, 6 FERMELRL. [/ MOERL (1%@HEN) . (- WEEH] GER1%UR) . v EMERL (1 %EHD) THE.

(GX2) ZRAXD T6FERMK (ha) | &, MEREBERERABE LB,
GEB)  MIMk. WHARK. WCSATE. KMAX. HMBMEMARD M6 FERM (ha) | X, REHBOREAW. £ XZ0 6 FERM (ha) | & ARBBF/DEFRBERERFICHMEMoEH (ERME) .
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FRAX BRI
b mIF% il KK SRR L. = x=
BADES 6;; 7 EEOER (B AX%) (REBHAEH AT
(ha) (4R S24) 6 FERM 7 EEOER 6 FERM 7TEEQER 6 FERM 7TEEDER 6 FERM 7TEEOER 6 FERM 7TEEOER 6 FAEEM 7 EEOER 6 FAEEM 7 EEOER
(ha) CLEEY ) (ha) (et 34 (ha) (a2 34 (ha) (AT (ha) (st A (ha) (AR (ha) CLEE))
T AT 27 - - - - - - - - - - - - - - -
I 1| - - - - - - - - - - - - - - -
GE1) EEAXRRUEBBEDO (7EE0ER GIATERM) | F. 6 FERMBELEL, 7 BIER] (1 %BEM) . (- §EEA] EE1%UR) . v EDERL (1 %8R THE,
(GE2) FEMAKXOD M6FEEM (ha) | (&, HEBREFBERHERHNLE LEH.
PO Ak, fARANK. WCSHRR. KMAX. FHHBMAEMARD 6 FEEM (ha) | (X, REHEOREEN. £ - K20 (6 FERM (ha) | (&, ARBRFNBEFRBERERFCHMETMoEN (B8HF) . 2/2)

Gx3)



